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Y 380,831,000 356,764,000 24,067,000
= 304,494,920
= 76,336,080
I ZMEEZH(AISI X /I = MHES A 380,831,000 356,764,000 24,067,000
= 304,494,920
= 76,336,080
MASEES 22X (220 I=229=E483AH) 380,831,000 356,764,000 24,067,000
= 304,494,920
= 76,336,080
SIS H SHE 372,899,000 348,979,000 23,920,000
= 298, 149,320
°c 74,749,680
307 @Iz2tol & 372,899,000 348,979,000 23,920,000
= 298,149,320
c 74,749,680
05 QI2tAEZ 372,899,000 348,979,000 23,920,000
O s2diSHIRE 370,275,400
= 296,050,440
°c 74,224,960
oz ME S TSI (28BN 2 2.450.000
= 1,960,000
°c 490,000
OMXMSAHIAE 173,600
= 138,880
c 34,720
EE ISP PO 1,300,000 1,200,000 100,000
= 1,040,000
= 260,000
201 Et29H| 1,300,000 1,200,000 100,000
= 1,040,000
°c 260,000
01 AIR2t2lt] 1,300,000 1,200,000 100,000
get4e=2H| 1,300,000
OO 2 S o T A S AL 1,300,000
= 1,040,000
°c 260,000
S22 2HXNLWEAHOILIASS 30,000 25,000 5,000
= 24,000
= 6,000
307 QIz2tol & 30,000 25,000 5,000
= 24,000
= 6,000
05 CI2IREZ 30,000 25,000 5,000
o2& HXNDEAHOILIASES 30,000
= 24,000
°c 6,000
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NZB20HII2RY 500,000 400,000 100,000
2 400,000
= 100,000

308 XHXIEHHI S 01 & 500,000 400,000 100,000
2 400,000
= 100,000

01 MXSHHIMNEED 500,000 400,000 100,000
OAZo2200I22Y 500,000
2 400,000
= 100,000

SEET RSN 4,950,000 4,950,000 0
2 3,960,000
= 990,000

308 XHXIEHH S 01 4,950,000 4,950,000 0
2 3,960,000
= 990,000

01 MXSHHIMNEED 4,950,000 4,950,000 0
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2 2,000,000
= 500,000
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2 1,960,000
= 490,000
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2 888,000
= 222,000
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2 888,000
= 222,000

01 MXSHHINSED 1,110,000 1,110,000 0
o220 22IA Y 1,110,000
2 888,000
= 222,000

NASZ 2 HAIYEX 42,000 40,000 2,000
2 33,600
= 8,400

201 LA 7,000 5,000 2,000
2 5,600
= 1,400

01 Al 22l 7,000 5,000 2,000
O+ 2| 5,000
2 4,000
= 1,000
BEET] 2,000
2 1,600
= 400
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202 O4Hl 35,000 35,000
= 28,000
& 7,000

01 =LHOA b 35,000 35,000
=AM EERFR NI 35,000
= 28,000
= 7,000




